Relationship brightnessB*| + and luminanceL as function of
wewmg angle¢ for test equal adaptation luminancel ;= 1000cd/m?

Relationship brightnessB*| + and luminanceLt as function of
viewing angle¢ for test equal adaptation luminancel 5= 1000cd/m?
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*L7 (LT, La §) =Cr($)LT —Bo(La ¢)  brightnessB*
Bo<La, ) =Cr($)[So(®) + Sy(@)LA] (n=0,31)
Lie(La §) = [So(0) + Su@)LA ™" (t=black threshold)

Lt Cr(d) So(d) Su(9) Bollad) B*r Lt
1000 ' 22,969 0,0718 0,2448 49,51 145,98
1000 ' 23,128 0,0747 0,2494 50,82 146,02
1000 23,415 0,1086 0,2526 52,89 146,39
1000 23,973 0,1313 57,37 146,66
1000 26,235 0,1797 75,92 147,37
1000 27,971 0,2013 90,28 147,78
1000 10" 30,747 0,2730 0,3984 112,66 149,03

221,4020' 22,969 0,0718 49,51 72,99U

7
5
3
2
1

89

41000

B*LT(LT.La 0) = S(O)LT —ch(La §)  brightnessB* [1]
BolLa §) = CT(@)[So(9) + Su(9)La] (n=0,31) 12]
Sd®)=Cr(®) [B]  di(lat) =Bolla ) [4]  (s=scaling factor)
Lt ¢ Cr®) @) Si(4) Bollad) Bt (@) dx(Lad)
1000 120° 22,969 0,0718 0,2448 49,51 14598 22,96
1000 100° 23,128 0,0747 0,2494 50,82 146,02 23,12
1000 90' 23,415 0,1086 0,2526 52,89 146,39 23,41
60' 23,973 0,313 02657 57,37 146,66 23,97
30 26,235 0,797 0,3188 7592 147,37 26,23
1000 20° 27,971 0,2013 0,3555 90,28 147,78 27,97
1000 10' 30,747 02730 0,3984 112,66149,03 30,74

221,4020° 22,969 0,0718 0,2448 49,51 72,99U 22,96
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hepd0-5a  L=1000, L=300, Lajdr=3,33Lajdren=1,450" <= ¢ <= 120’

Nepa0-6a Lo=1000, =300, Lajdr=3,33 Lajdren=1,450' <= § <= 120

Relationship brightnessB*yt and tristimulus value Yt as function of
viewing angle¢ for test equal adaptation Iuminancd.a=10000d/m2

Relationship brightnessB*yt and tristimulus value Y+ as function of|
viewing angle¢ for test equal adaptation luminancel ;=1000cd/m'

B*v1(LT, La §) = [CT(O)LT ~Bo(La §)ILra brightnessBryr  [1]
Bo(La §) = Cr(®)[So(®) +Si(@)Lal  (1=0,31,Lz=(Laoo/La)") [2]

B*yT(LT, La 0) =S(Lad)LT —dy(La ¢)  brightnessB*yr  [1]
Bo(La $) = Cr(®)[So(®) + Su®)Lal  (n=0,31,Lia=(Lsoo/La)") [2]
5(6) =Cr(9)Laa [3] dy(Lad) =Bolla $)Lia [4] (s=scaling factor)

Yoo 0 Cr@) S®)  Si9) Bollat) B*vr sy(Lad)dy(Lad)
1000 120° 22,969 0,0718 0,2448 49,51 10051 1581 3
1000 100° 23,128 0,0747 02494 50,82 100,53 1592 3
1000 90' 23,415 0,1086 0,2526 52,89 100,79 16,12 3
1000 60° 23,973 0,1313 0,2657 57,37 100,97 16,50 3
1000 30° 26,235 0,1797 0,3188 7592 101,46 18,06 5
1000 20° 27,971 0,2013 0,3555 90,28 101,75 19,25 6
1000 10° 30,747 02730 0,3984 1126610261 21,16 7
48,0U120' 22,969 0,0718 02448 49,51 50,00U 1581 3
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Lye(La ) = [So() + Si)LE "L (t=black threshold)

Yr ¢ Cr(d) So@) Su9) BolLad) B*vr Lyt Lallt
1000 120" 22,969 0,0718 0,2448 49,51 100,51 8,20 8
1000 100" 23,128 0,0747 0,2494 50,82 100,53 8,73 7
1000 90" 23,415 0,1086 0,2526 52,89 100,79 9,54 7.
1000 60" 23,973 0,1313 0,2657 57,37 100,97 11,49 5
1000 30" 26,235 0,1797 0,3188 75,92 101,46 21,21 3
1000 20" 27,971 0,2013 0,3555 90,28 101,75 30,16 2
1000 10" 30,747 0,2730 0,3984 112,66102,61 4541 1
92,9U 120" 22,969 0,0718 0,2448 49,51 50,00U 8,20 8

hep40-7a  L,=1000, k=300, Lajdr=3,33Lajdren=1,450" <= ¢ <= 120’

hep40-8a  L,=1000, L,=300, Lajdr=3,33Lajdren=1,450' <= ¢ <= 120’
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